Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

Ratio

=0.02
[
.018
(8]
9.016
5}
$.014
()
0.012
0.01
0.008
0.006
0.004
0.002

Ratio

1.0

o
'_\(D
o%

N

1 10 . Gedf’

—=— DQM_mkFit_TToriginal

—— DQM_mkFit_TTNEWHS_ALLITERS

Vs

[y

o
©
a

[N
N
iR
Of cveemvtreee e e e
=)
N
w

Efficiency vs ¢

o 0.01¢
2 oof
2.009E o
[&] . . . . . . .
D.008F ++--odrroe e e
) . . . . . . .
U St S E AR S
o 2 . . . . . .

..............................................

TP @



	Contents
	Page 1


